Al & Ol & A Z Ml A
FA OIES
M Lol=XEX
CH9l: LSMEOIN 2 OIESKIR (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
IS 81,799,706 78,977,166 2,822,540
= 44,265,529
[ 508,720
Il 1,270,261
< 8,064,438
= 27,690,758
Ll e NS 48,005,094 46,918,850 1,086,244
= 37,031,300
Il 159,961
== 1,662,841
o 9,150,992
C24E0HE & oS KIE 47,849,607 46,771,113 1,078,494
= 37,031,300
Jl 159,961
S 1,658,041
= 9,000,305
LoI=X 29 X 11,204 0 11,204
201 er23| 6,304 6,304
01 At2teltl 6,304 6,304
okPI=l 222 M 5,0002 *3007K 1,500
oLglE & 250,000 +2H 500
OMNRES 78 20,0002 *x105+62 1,200
o= A2 FA S|
8,0003 x4 +0r 3,104
202 04l 2,400 2,400
01 =LHAHI 2,400 2,400
o PI=A AR FA 0]
20,0003 x2& »60! 2,400
203 =4l 2,500 2,500
03 A=A 2= 2,500 2,500
SJIEHEF A= 625,000 *4= | 2,500
CLOISXSE A X 172,400 172,000 400
201 er2 3| 4,400 4,000 400
03 A= &I 4,400 4,000 400
SOl &, =019 & A HZ S
100,000 x22H #2353 4,400
307 gl2to| & 168,000 168,000
04 QIZHHAMAIH 2 £ 168,000 168,000
oOHOl & A X1
7,000&x12,000& 84,000
ololo] & A XIH
7,000&1%12,000& 84,000
Lol A X 2,437,060 2,437,060 0
201 Ler23| 43,060 43,060
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SN OISR
M Lol=XEX
CH9l: LSMEOIN 2 OIESKIR (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 43,060 43,060 0
Lol ST M
502 %13,3002 1304 *4= 71 34,580
SEEH ABYA EXNET A
50,0003 *10JH & 2 500
osrd ST M 15021%13, 300 «40H 7,980
301 EtE NS 2,394,000 2,394,000
02 MBI 2HHSFHS(HAANS, XLHE) 2,394,000 2,394,000
ool 5 X2
5,000& %13,3002 +301 122 2,394,000
Lol LoelAd 668,800 0 668,800
101 @1A4H| 668,800 0 668,800
04 JIZtN22 NS 2+ 668,800 0 668,800
oLolYIRIAIY BOIK BEH S(2E)
668,800,000 668,800
colgintel & ASIESKIE EH(EX) 4,750,940 5,004,724 A303,784
= 2,375,470
=S 712,641
s 1,662,829
101 ©1AH| 4,617,540 4,925,277 A307,737
= 2,308,770
= 692,631
[Ea 1,616,139
04 JIZtN2 2N S 2+ 4,617,540 4,925,277 A307,737
oL QIARIRIAIY A 2SH S (SUE
2662, AFEIAIHIABO0N, AIZHE253)
4,617,540,000& 4,617,540
= 2,308,770
= 692,631
[Ea 1,616,139
201 fet= 3| 72,000 8,047 63,953
= 36,000
= 10,800
o 25,200
01 At22te|Hl 72,000 8,047 63,953
oL I =N ARZF S
72,000,000 72,000
= 36,000
= 10,800
= 25,200
202 048l 16,400 16,400 0
= 8,200
= 2,460
= 5,740
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SN OISR
M Lol=XEX
CH9l: LSMEOIN 2 OIESKIR (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 12,780
s 29,820
202 04l 1,000 3,400 2,400
Jl 500
== 150
= 350
01 2LHoIH 1,000 3,400 A2,400
oSS MM MBI AAY =X
20,0003 x2& 26 1,000
7l 500
< 150
T 350
SHEOSSHM SSAHLSEMEIA Ss22E 4,800 0 4,800
wSHl X2 (XEA)
202 04t 4,800 4,800
01 =LHOHI 4,800 4,800
oSHLSSHUL S=22QF US|
200,000 «2H 122 4,800
SHEUSSHC SSAMLEAMEA SIYFX2 =2 4,560 0 4,560
=
201 =3 4,560 4,560
2 352484l 4,560 4,560
oSN USSR SsSHHLSAHIA
s|g=A2 28 S 4,560,000 4,560
HESSH T AISHHE(XHA) 48,720 39,871 8,849
201 fer23| 9,020 9,000 20
01 AtR2t2|HI 9,020 9,000 20
oRRaAlE =24 400,000 * 110K 2 4,400
o234 TAE Y S
11,0002 «210E 2K E 4,620
301 LEIE NS 23,320 23,320
14 IIEt2 8= 23,320 23,320
ocRSAUE SAIL 238 A&
20,0002 =2 +532]« 114 4 23,320
307 el2to| & 16,380 7,551 8,829
1 AMISXAIEEXS 16,380 7,551 8,829
oHSEE MIH=Ql AAE
1,500 »2102%523] 16,380
HSET SAIHE(EX) 50,800 50,800 0
< 12,700
= 38,100
307 elztol & 50,800 50,800 0
= 12,700
= 38,100
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SN OISR
M Lol=XEX
CH9l: LSMEOIN 2 OIESKIR (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 AMEISXAEEES 50,800 50,800 0
o HSEE THIH=Ql AAHHHE
50,800,000& 50,800
= 12,700
Ea 38,100
d2alY RE3A(EX) 384,984 209,250 175,734
Il 115,495
o 269,489
307 212+01& 384,984 209,250 175,734
Il 115,495
= 269,489
11 ABI= XA 2 E 384,984 209,250 175,734
oPTAY 2234 Al
384,984,000 384,984
Jl 115,49
Ea 269,489
HEAXZB0IE 24 23,760 23,400 360
== 7,128
o 16,632
301 22N 23,760 23,400 360
[ 7,128
T 16,632
02 MBI 2EHSFHS(HAANS, XLHE) 23,760 23,400 360
oHSAXNZT0IT S=SUa HFAUIIAY
30,0002 x66E « 12 23,760
= 7,128
o 16,632
SAMAE EF L A 155,487 147,737 7,750
s 4,800
s 150,687
SSEA 2l 30,600 30,600 0
202 04| 600 600
01 =LHOLI 600 600
o RAIEXl 51IHAID) SXI 2ol
20,0003 x18»30 600
401 AlZHIZ SO 30,000 30,000
01 Al&H| 30,000 30,000
o=ZSE2A FHIAIE 30,000,000& 30,000
SS&d A 16,000 16,000 0
=S 4,800
s 11,200
301 EtE NS 16,000 16,000 0
< 4,800
[Ea 11,200
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SN MRS
M HdIEEXE
el od=X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oHETATAl U 28 E2= S
M 300,000 %53 1,500
cHEWF HA=E 325,000 %102 3,250
cUYASTAl FHEY Ws AL
500,000 32 1,500
cUHBSHUIAS| ALY
70,00021%15% 23] 2,100
SOM TRAY ADET S|
8,000 x3&+0r! 2,328
202 04| 2,700 6,300 A3,600
01 =LHOHI 2,700 6,300 23,600
SOH NAYD =X
20,0003 x3& 452 2,700
206 M=l 2,400 2,400
01 MHZH| 2,400 2,400
ocOHEXNZA W= MHEH|
20,0003 +x302 *43] 2,400
207 ARl 15,000 15,000
01 S| 15,000 15,000
SHARSTAl 4 HARSAH|
15,000,000 * 14! 15,000
301 2eEN=S 7,400 7,400
11 dALEEIXIRE S 1,400 1,400
oldus 4L 24 8,000& x175H 1,400
4 IIEt2 83 6,000 6,000 0
oY TAl ZUEAHH 2SI
50,0003 x30 2 *43] 6,000
Hgetd 2sA2 19,000 19,000
201 fet=3| 4,000 4,000
03 A= 4,000 4,000
oMNEoZE L= A
4,000,000& 12 4,000
307 glztol & 15,000 15,000
04 QIZHHAMAIRH 2 & 15,000 15,000
CYHBSFTH IS
15,000,000 *13] 15,000
HEHH sSit= B S8 A 5,000 0 5,000
=S 1,500
s 3,500
307 21201 & 5,000 0 5,000
== 1,500
[Ea 3,500
02 LB HANHEE 5,000 0 5,000
oM sS4 Bl SN A X2
5,000,000& 1] 5,000
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SN MRS
T O14I1ER 2
el Hd=X X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 1,500
s 3,500
Hdzl2 |2 18,000 18,000
201 er2 3| 18,000 18,000
01 AtR2te|Hl 9,400 9,400
old2Eg ARE Y
20,0002 x55+ 122 1,200
SOIM8 B DUAHIAIA BAE
100,000~ 12& 1,200
o0dal 2 3 d 1,750,000 42 7,000
2 s5=34l 8,600 8,600 0
ocNd32 MRS 2 HAl
550,000 x 12 6,600
cAN&EEH =X S 200,000& %102 2,000
OLISEXIA(EX) 811,669 838,158 AN\26,489
= 568, 168
=S 73,050
s 170,451
307 @I2to| & 324,000 297,943 26,057
= 227,267
= 29,220
Ea 67,513
1 AMISXAIEEXS 324,000 297,943 26,057
o0l0lE=s AEAE 24|
324,000,000 324,000
= 227,267
= 29,220
Ea 67,513
308 AtAIEHMSOIE 487,669 540,215 N\52,546
= 340,901
= 43,830
[Ea 102,938
1 SIS0t EAS A 487,669 540,215 A\52,546
o002 A2AE GIE=s
487,669,000 487,669
= 340,901
= 43,830
o 102,938
OoIEsSAMElIA 201REs I 120,000 120,000 0
301 EetE2 N = 120,000 120,000
02 A EEHS(FANE, XLETHE) 120,000 120,000
o0l0ISSAMEIA 2IRE= K&
120,000,000 120,000
OtoIE=(&HI) 1,050 1,080 A30
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SN MRS
M HdIEEXE
el od=X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 315
s 735
307 lztol & 1,050 1,080 A30
= 315
= 735
11 AMEISXAIEEXS 1,050 1,080 A30
oO0t0I= 20| AZZ&l| 1,050,000& 1,050
= 315
o 735
CH23 IS X 5,999,569 4,768,455 1,231,114
Jl 446,944
= 153,471
[Ea 5,399, 154
IHE=EX2 29 26,410 26,410
201 fet= 3| 26,410 26,410
01 AtR2tc|HI 4,850 4,850
oJtd=Kel2 28 22E 72
25,0002 +x65+102 1,250
oJtgd=Xz2 88 =8
200,000& *62 1,200
oJtE=sNz2 )| SRz
50,000 =20 =128 1,200
o ROFHIANAYE E9=
100,000 »12& 1,200
2 S5=24g4l 21,560 21,560 0
oJtg=Nz2 =223
50,000& * 122 600
oJHE=ENz2 MIes
1,000,0002 122 12,000
oJtd=Xel2 Hatx A
220,000 *32] 660
oJtd=Xzgl2 A8 KX 6,500,000& 6,500
oJtg=Xzl2 MAFH SBR=
150,000& * 12 1,800
JIESHH A8 4,753,000 3,687,000 1,066,000
401 AlZHIZ SO 4,753,000 3,687,000 1,066,000
01 AlZ28| 4,153,000 3,588,200 564,800
o JIEdE HEI 4,153,000,000& 4,153,000
02 2l 600,000 70,000 530,000
oA 2RSS 22l
600,000,000 600,000
220t 8l OI2siE JadH 28(S8) 535,980 486,280 49,700
) 267,990
< 80,397
s 187,593
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SN MRS
= HdIE=ERE
el OEeEXE (SH9 H2)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
307 212t01™ 535,980 486,280 49,700
Il 267,990
== 80,397
T 187,593
11 ARIZXAIE E X 535,980 486,280 49,700
SAAINE U U2IIIEXAME SEAHI
A 23| 311,700,000 311,700
J| 155,850
== 46,755
ia 109,095
cIISMHEZ0H 84,840,000 84,840
Il 42,420
== 12,726
o 29,694
oli2otuFASE2t 42,600,000 42,600
Il 21,300
== 6,390
a 14,910
oU23HE SEIINE Al E28 e
-5 90,900,000 90,900
Il 45,450
== 13,635
T 31,815
oX0t= ZE0I2A CHOISAIE
5,940,000& 5,940
Il 2,970
[ 891
Ea 2,079
egs o M8 S $20S MHIA XIY(EX) 165,736 163,008 2,728
J| 82,868
< 24,860
[Ea 58,008
307 212t01& 165,736 163,008 2,728
J| 82,868
S 24,860
s 58,008
11 ARRIS XA E X 165,736 163,008 2,728
ocHZWE MHIA K& 165,736,000 165,736
Il 82,868
= 24,860
o 58,008
0180l JtEEE &4 35,031 33,943 1,088
Il 17,515
= 5,255
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A OSSN
T 014IIER 2
=t UESDIEEAIE (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 12,261
307 gl2tol & 35,031 33,943 1,088
Il 17,515
= 5,255
= 12,261
11 AMEISXAIEEXS 35,031 33,943 1,088
0|80 JIEEE x4
35,031,000& 35,031
Jl 17,515
= 5,255
= 12,261
CrEshts AH0gE " X2 39,000 37,660 1,340
) 19,500
= 5,850
= 13,650
307 elzto| & 39,000 37,660 1,340
Jl 19,500
[ 5,850
T 13,650
11 AMEISXAEEES 39,000 37,660 1,340
otEZ3tE Adoge X
39,000,000& 39,000
Jl 19,500
< 5,850
[Ea 13,650
ZE0I12A SHIAHIA XS 65,625 31,788 33,837
Jl 32,812
< 9,844
[Ea 22,969
307 212+01& 65,625 31,788 33,837
Il 32,812
=S 9,844
s 22,969
11 ARRIS XA E X 65,625 31,788 33,837
oZE0|UL SHY MBI~ K&
65,625,000 65,625
7l 32,812
= 9,844
o 22,969
CH230tS Atdll2tel X 37,018 36,850 1,168
7l 18,509
= 5,553
o 12,956
307 @120l & 37,018 35,850 1,168
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2A:
PSER
o e

el

S - BE - BI(3) - NRAY - BAS

ol vy

HE
0l &y

S

M

18,509
5,553
12,956

1 ARIEXAIEE X

oU23HE Atdl2tel K&
37,018,000

S

EUNGE

37,018

37,018
18,509

5,553
12,956

35,850

1,168

o
It
2
£
Ko
H0
02

S

UMY

15,500
7,750
2,325
5,425

15,500

307 212+01™

S

M

15,500
7,750
2,325
5,425

15,500

15,500,000&

S

M H

15,500

15,500
7,750
2,325
5,425

15,500

I
o
=)
e
>
H
1
m
Jn
=
0/
=
o
=
Q

M

4,500
1,350
3,150

4,500

307 212+01&

MO

4,500
1,350
3,150

4,500

11 AR ZXAIE 2=

SHEORIK 2HH

In

lE=S

4,500,000

M H

4,500

4,500
1,350
3,150

4,500

2SR UE S SE82H(EX)

M

16,200
4,860
11,340

16,200

307 212+01&

M

16,200
4,860
11,340

16,200

OU
v
0%
[
Ho
[
S
IR
ol
o
=
o
O

ral AR S
=g 16,200,000

in

16,200

16,200
4,860

16,200
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SN MRS
T 014IIER 2
el OEeEXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| = 1,340
0= Oglold G230l el =24 3,600 3,600 0
== 1,080
[Ea 2,520
307 212+01& 3,600 3,600 0
< 1,080
s 2,520
11 AMEISXAEEES 3,600 3,600 0
oX0bt= 0iel0ld U235t Olofua 23
3,600,000& 3,600
= 1,080
Ea 2,520
ZE0/20E A2E=20] 23 6,989 8,736 A, 747
== 2,097
o 4,892
307 212+01& 6,989 8,736 A1, 747
< 2,097
= 4,892
11 AMEISXAEEE 6,989 8,736 A, 747
oZE01U0Y &R2ER0 29
6,989,000& 6,989
= 2,097
Ea 4,892
th=22bs K& 274,980 202,980 72,000
201 et 3| 980 980 0
01 AtR2t2|H] 980 980 0
oU23IIEXAE S 3o HAxE
70,0002 7 H =23 980
307 elztol & 274,000 202,000 72,000
02 2IZHB A E £ 8,000 8,000 0
o2 U HINZ NE DS Syl
8,000,000& 8,000
04 QIZHHAMAIH 2 £ 15,000 15,000 0
otEstE et S =
15,000,000& *13] 15,000
11 AMRISXAEEES 246,000 174,000 72,000
olt22tE delXlg
2,000,000& 10 20,000
olt2htE & I S3tus
5,000,000& *25 10,000
oURXEAL & 0H0ISE EE4E
50,0002 x40« 122 24,000
oCE3td 2F2UDI
3,000,000& «25& 75,000
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SN JIEHE
M HdIEXE
el GOEsEIIE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oUEZetE XY ststl XIE
25,0002 30024+ 123 90,000
olt2etE U2y X
1,250,000 *432] 5,000
oUEZ3IHE NZHEH SAHA EEE
2,500,000 x4H 10,000
oUEZSIHE W= 0l XI¥3
200,000 «10E~6& 12,000
12 Q2RI RAE =] 5,000 5,000 0
olt2tE I HHSE 24
5,000,000& 5,000
Ctest S0t &t 2 20,000 15,000 5,000
< 10,000
= 10,000
307 elztol & 20,000 15,000 5,000
= 10,000
= 10,000
1 AMEISXAEEES 20,000 15,000 5,000
ol=st Aitstn A 29
20,000,000 20,000
= 10,000
o 10,000
2N 9,128,284 8,455,986 672,298
= 4,244,158
S 2,988,649
o 1,895,477
22X 219,784 42,100 177,684
201 fer= 3| 980 980 0
01 At 2|l 980 980 0
PR 3o HALL
70,0008 7 H 23] 980
307 elztol & 218,804 41,120 177,684
02 LB HAHE L 20,000 20,000 0
oESIN DS 2l X8
20,000,000& *13] 20,000
1 AMEISXAIEEXS 198,804 21,120 177,684
oI 0E0lE FHAIFI2H K&
480, 0002522+ 128 11,520
oITRORIOIE 22| X
200,000 404 A+ 128 9,600
o [0t WAL QIAH| XI& (238X
424,000 x1821 123 91,584
o0gl0lE 25201 12dl X
512,500 x 140 2+ 128 86,100
HElold AR (=h) 216,858 186,523 30,335
< 57,231
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2A:
T ZH -
o e

=aak

ol
—

0
o I Ji

~
o

H 2
Ho0 0x Jn

> Y

SA - FE - SRA(3H) - MRAE - BES

Ofl &F2H

HMEE
Ofl &k2h

H

159,627

307 212+01&

M

216,858
57,231
159,627

186,523

30,335

)

11 ARIEXAIEE X

oel0IE SAA =K==

o QIZIIEOEI0IE Zel| o124l XI= (34

oQIZIEHOE0IE SRE IHHERS K&

OIAHI (10 A)
17,317,000

A H

13,901,000

UMY

23,280,000

A H

100,000 96K B+ 122

UMY

S

, 0002 «131H 122

M H

169,698

17,317
5,19
12,122

13,901
4,204
9,697

23,280
9,600
13,680

115,200
28,800
86,400
47,160

47,160
9,432
37,728

148,723

37,800

20,975

9,360

Mo

2,307,664
1,183,832
576,916
576,916

2,818,591

510,927

307 212t01d

HH W

2,307,664
1,183,832
576,916
576,916

2,818,591

A510,927

2,265,420,000&

HH W

42,244,000

HH W

2,307,664

2,265,420
1,132,710
566,355
566,355

42,244
21,122
10,561
10,561

2,818,591

510,927
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SN MRS
T 014I1EX 2
el 2K EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
FelBE(EX) 1,399,236 1,399,236 0
= 1,399,236
307 21201 & 399,236 1,399,236 1,000,000
< 399,236
1 AMEISXAIEEXS 399,236 1,399,236 1,000,000
oFcltyd 28 N 399,236,000 399,236
= 399,236
308 AXIMSOIA 1,000,000 0 1,000,000
= 1,000,000
11 SI2S0 e YA A A 1,000,000 0 1,000,000
oxC|UtE OE= 1,000,000,0002 1,000,000
< 1,000,000
IR0t 252 K& 1,841,372 2,218,474 A377,102
= 1,196,892
= 322,240
Ea 322,240
308 AXIHSOIA 1,841,372 2,218,474 A377,102
= 1,196,892
= 322,240
= 322,240
11 2012 SOITHEHE AR SIS ANI | 1,841,372 2,218,474 AB77.102
CHSK0L BRE KA (258Y)
1,841,372,000& 1,841,372
= 1,196,892
= 322,240
= 322,240
L+ (EX) 185,816 589,230 N403,414
= 120,780
S 32,518
= 32,518
301 LEtE NS 185,816 589,230 A403,414
= 120,780
< 32,518
[Ea 32,518
01 AR 2EHSHS(RDNEXRTHE) 185,816 589,230 A403,414
oIty eI X (263Y)
185,816,000 185,816
= 120,780
== 32,518
[Ea 32,518
2220(Hot+E) X 2,079,212 523,943 1,555,269
= 1,351,488
== 363,862
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2A:
PSER
o e

el

ol
—

0
0 IR Jit

~
o

H 2
Ho0 0x Jn

> Y

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

H

363,862

Mo W

2,079,212
1,351,488
363,862
363,862

523,943

1,555,269

2,079,212,000&

Mo W

2,079,212

2,079,212
1,351,483
363,862
363,862

523,943

1,585,269

Mo W

66,604
33,302
16,651
16,651

63,886

2,718

307 212t01d

HoH W

66,604
33,302
16,651
16,651

63,886

2,718

10 MEIEXAIEHE2EY

oE2SAE X2

[
Z

41,960,000

HH W

11,800,000

HH W

12,844,000&

HH W

66,604
41,960
20,980
10,490
10,490
11,800
5,900
2,950
2,950

12,844
6,422
3,211
3,211

63,886

2,718

0p
0p
oar
=
FE
S
I
=
o
hi
o
™
]
=

M H

33,912
25,434
8,478

33,912

307 212t01™

M

33,912
25,434
8,478

33,912

33,912,000

M

33,912
33,912
25,434

8,478

33,912
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2A:
X XH -
o e

=aak

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

SN HRIME X (DA 2LEZHHH])

HH W

225,980
112,990
56,495
56,495

186,827

307 212t01&

HoH W

225,980
112,990
56,495
56,495

186,827

39,153

11 ARRIS XA E X

oA AL XIAHI(84E)

225,980,000

MW

225,980
225,980
112,990
56,495
56,495

186,827

39,153

00 HI

SR MM KR (SOHELI DA
)

MW

108,329

54,165
27,082
27,082

130,536

ng2, 207

307 212+01™

MW

108,329
54,165
27,082
27,082

130,536

ne2,207

108,329,000

MW

108,329

108,329
54,165
27,082
27,082

130,536

N22,207

SN HRMHE XN (XA XIH)

Mo W

329,817
164,909
82,454
82,454

261,528

68,289

307 212t01™

Mo

329,817
164,909
82,454
82,454

261,528

68,289

329,817,000

HH W

329,817
329,817
164,909
82,454
82,454

261,528

68,289

H

1,600
800

1,200

400
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2A:
PSER
o e

el

ol
—

0
0 IR Jit

~
o

H 2
Ho0 0x Jn

> Y

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

A H

400
400

HH W

1,600
800
400
400

1,600

1,600,000

HH W

1,600

800
400
400

1,600

I
o0
[
=
o
=
1]
o
Ofr
>
1%

HH W

110,000
55,000
27,500
27,500

110,000

401 Al HIZL S 0HYI

MW

100,000
50,000
25,000
25,000

100,000

o=x3E0E0E &5 22

el

100,000,000 »10H 2~

MW

100,000

100,000
50,000
25,000
25,000

100,000

405 KHAH SH

MW

10,000
5,000
2,500
2,500

10,000

10,000,000 * 100 A

Mo W

10,000

10,000
5,000
2,500
2,500

10,000

220801y 248 43l A

M

2,100
630
1,470

2,100

307 212t01&

A H

2,100
630
1,470

2,100

11 ARRIZXAIE 2=

2,100

2,100
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2A:
X XH -
o e

el

- SRA(3) - HIRAEY

- ESS

Ofl &F2H

HMEE
Ofl &k2h

oZel0igl0ld =2 43t N2

300,000 *79H 2

M

2,100
630
1,470

MNASOHE X

S

M

493,414
322,664

67,106
103,644

493,414

S

A H

397,029
317,623
39,703
39,703

397,029

S

M

397,029
317,623
39,703
39,703

397,029

397,029,000

S

MO

397,029

397,029
317,623
39,703
39,703

397,029

S

M

6,301
5,041
378
882

6,301

S

M

6,301
5,041
378
882

6,301

6,301,000

S

EUNGE

6,301

6,301
5,041
378
882

6,301

SO THIXR(EX)

M H

90,084
27,025
63,059

90,084

A

90,084
27,025
63,059

90,084

r
oHASEHERIIE K

02 MBI 2HHSFHS(HAANS, XLHE)

90,084,000

90,084
90,084

90,084
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A JIEY=L
M HEIEXE

Rl MASOHE A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 27,025
s 63,059
OlsEAE X2 7,686,013 7,317,789 368,224
= 1,562,912
= 508,720
Jl 311,862
= 974,916
o 4,337,603
Ols=XAIA 6,297,881 6,164,820 133,061
= 1,537,894
= 508,720
7l 28,560
= 930, 159
o 3,292,548
ors84AE 2N 17,860 8,460 9,400
201 fer= 3| 13,860 6,860 7,000
01 AtR2tc|HI 12,660 5,660 7,000
SOISHAHYS ARSE 79
30,0002 *20Z+52 3,000
cBHESHE S 300,00024%103) 3,000
SOISEAE ADEX S|
8,000 4241002 3,200
oHAW 2R MO US| S HAY
70,00021%724%43] 1,960
CHAUS $3 +42(FZZUBA)
5,000& x300H 1,500
02 s5=34l 1,200 1,200 0
o0tssl 88 sUds 23
100,000& * 122 1,200
202 04| 4,000 1,600 2,400
01 2K 4,000 1,600 2,400
ollsEAE HEFA
20,0003 x4 50! 4,000
BI|IS CEHAAER 2H(EX) 48,000 48,000 0
= 14,400
= 33,600
307 elztol & 48,000 48,000 0
= 14,400
Ea 33,600
1 AMEISXAIEEXS 48,000 48,000 0
oBIIS SHEDNAER} 2H(EX)
48,000,000 48,000
== 14,400
o 33,600
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SN iSRS
Bo: OISEHLE X8
cel: Ol s=XIXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
8|8 Ots=4(EX) 228,000 169,600 68,400
= 228,000
307 21201 & 228,000 159,600 68,400
< 228,000
1 AMEISXAIEEXS 228,000 159,600 68,400
o&I|E EZEY Ols24! N
10,0003 x240E «95! 228,000
=S 228,000
LEE Ots24(EX) 172,800 161,200 21,600
= 51,840
[Ea 120,960
307 @120l & 172,800 151,200 21,600
=S 51,840
s 120,960
11 ARRIS XA E X 172,800 161,200 21,600
oWE OIS AN
8,0003 x240E ~90! 172,800
< 51,840
s 120,960
ors=g XI& 1,852,114 2,117,737 N265,623
= 1,296,480
< 116,683
= 438,951
301 EtE NS 1,852,114 2,117,737 N265,623
= 1,296,480
== 116,683
o 438,951
01 Al 2E A S(SRNEXMH) 1,852,114 2,117,737 N265,623
o0t =80 1,852,114,000& 1,852,114
= 1,296,480
=S 116,683
s 438,951
OlsS=AIE 2SN (EX) 1,596,746 1,5%,746 0
< 174,175
= 1,422,571
307 elztol & 1,596,746 1,5%,746 0
= 174,175
= 1,422,571
10 Al SXAAEEHE 22X 1,511,946 1,511,946 0
oOtS=XAIE 2SX2
1,511,946,000& 1,511,946
= 151,195
o 1,360,751
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A OSSN
M Ols3Ead K&
cel: Ol s=XIXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 AMEISXAEEES 84,800 84,800 0
oOtSAFAIE N2
12,300,000& 12,300
= 1,230
Ea 11,070
oSAMINHEESE 40,320,000 40,320
== 12,096
o 28,224
oANdotstetgstEds
4,500,000& 4,500
= 1,350
o 3,180
oANEOISdEEE 26,880,000 26,880
s 8,064
s 18,816
S A&0tS =01 800,000 800
& 240
= 560
ZAHEX s Ots NEXH 4,107 4,107 0
= 2,876
< 369
s 862
307 glztol & 4,107 4,107 0
= 2,876
== 369
[Ea 862
11 AMEISXAEEES 4,107 4,107 0
oA HXs Ot HEHIS
607,000 607
- 426
== 54
o 127
oA Xs OtS Atell2tcl
3,500,000& 3,500
= 2,450
< 315
o 735
2SEI0ts NHEEE=2 70,000 30,000 40,000
= 21,000
= 49,000
301 EtE N = 70,000 30,000 40,000
= 21,000
Ea 49,000
02 A EEAHS(FANE, XLTHE) 70,000 30,000 40,000
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2A:
X XH -
o e

=aak

HE
0l &y

M

70,000
21,000
49,000

MW

72,000
57,600

4,320
10,080

72,000

Mo W

72,000
57,600

4,320
10,080

72,000

72,000,000&

Mo W

72,000

72,000
57,600

4,320
10,080

72,000

Mo

107,170
75,019
9,645
22,506

1

26,35

A19,184

HH W

107,170
75,019
9,645
22,506

1

26,354

219,184

107,170,000&

HH W

107,170

107,170
75,019
9,645
22,506

1

26,354

219,184

0%
O
H
%

S

M

40,800
28,560
3,585
8,655

30,600

10,200

S

UMY

40,800
28,560
3,585
8,655

30,600

10,200

200,000 x17E 128

40,800

40,800
28,560

30,600

10,200
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A JIEE=0
M OlEHAE X
cel: Ol s=XIXE (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
< 3,585
= 8,655
ItEQIEOtE AoflEEE XId(EX) 1,097 1,097 0
= 767
L= N
= 231
307 212+0| & 1,097 1,007 0
= 767
= 9
= 231
06 223 1,097 1,097 0
SIHERAEANIN o282
1,097,0002 1,097
= 767
= 9
= 231
IS ASNA(EX) 76,100 76,100 0
< 9,870
= 66,230
301 LEPEHZ 76,100 76,100 0
= 9,870
= 66,230
R M BRRLGS(FAAS, NLW) 76,100 76,100 0
SIIHSIEIE YSNES
300,000% *18% 122 64,800
= 6,480
= 58,320
SIIHRASA 2123
20,0003 +20MICH+ 1223 4,800
= 1,440
= 3,360
<JIERIE0ts HEsEdls
1,500,000 *3Z *13] 4,500
= 1,350
= 3,150
SIIHIEHIT BEH 2|
50,0003 *20 I CH+23 2,000
= 600
= 1,400
HEAE =X 7,200 7,200
301 Et2E = 7,200 7,200
02 NBIEZESGS(HAAS, XLTHEA) 7,200 7,200
<JIERIE0ts 2=XJ 2 7,200
-53X 20,0002 *15% * 128 3,600
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SN iSRS
M Ols3Ead K&
cel: Ol s=XIXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| -aw 60,0002 x5 * 128 3,600
NAotsE2s 8202 2S(THIAERA) 69,415 51,607 17,808
308 AXIHSOIA 69,415 51,607 17,808
07 HXHH2LREES 69,415 51,607 17,808
COISEEHRI|BRY AR RE2
40,665,000& 40,665
SIMBLASNAME 2Y AR 2HB
28,750,000 28,750
SES0ts Atdll2tel K& 1,680 840 840
201 er23| 1,680 840 840
01 AfR22IH| 1,680 840 840
SNBSS BA g
70,0002 x6 2 *43 1,680
SIHUIoHOtS 2AIESHIES 4,860 9,720 A4,860
== 1,458
o 3,402
307 212+01& 4,860 9,720 A4,860
[ 1,458
T 3,402
11 AMEISXAEEES 4,860 9,720 A4,860
oSIo0lS AE2HIS
4,860,000 4,860
= 1,458
o 3,402
OlIsE2sdER¥ AIE22I 5,000 8,000 A3,000
= 4,000
= 300
o 700
201 er2 3| 2,500 4,000 21,500
= 2,000
= 150
s 350
01 At2tltl 2,500 4,000 1,500
oRMEI AN2+E 1,000,000& 1,000
= 800
< 60
[Ea 140
oOINMES & ek 2278 S
1,500,000 1,500
= 1,200
[ 0
T 210
301 EtE NS 2,500 4,000 21,500
= 2,000
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A OSSN
ZH: OlSEAHE A2
=t OtE=XIXE (EEEE))
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
< 150
s 350
01 Al EEATZ2(2DEZMR) 2,500 4,000 1,500
oQES0tE =J| olgdl L AelZ Al
1,500,000 1,500
= 1,200
< 0
s 210
oMHIAZZIY 01 Y HZ
500,000 500
= 400
& 30
= 70
= J|EFXIZH] 500,000 500
2 400
< 30
s 70
OlsEsdge¥ elzdd] K& 2,880 2,880
202 04l 2,880 2,880
01 =LHOHI 2,880 2,880
colsEsS R U
20,0002« 1 *102+ 122 2,400
ollSESdERE 220l
60,0002 18 +8& 480
KNS 0tsHE 249Hl K& 1,000,000 833,760 166,240
= 500,000
== 150,000
o 350,000
307 212t01& 1,000,000 833,760 166,240
= 500,000
= 150,000
o 350,000
10 Al SXAI2EE 22X 1,000,000 833,760 166,240
oXF0otsdE 23| 200,000,000 200,000
[ 100,000
= 30,000
Ea 70,000
o XF0otsdIE 22| 800,000,000 800,000
[ 400,000
= 120,000
Ea 280,000
Sdg XNS0otsdH = XN 7,440 10,800 A3,360
[ 3,720
= 1,116
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SN iSRS
T OISHAE X
cel: Ol s=XIXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 2,604
307 gl2tol & 7,440 10,800 23,360
[ 3,720
= 1,116
= 2,604
10 Al SXAAEEHE2EHI2x 7,440 10,800 A3,360
oSa=48g It AE 7,440,000& 7,440
= 3,720
& 1,116
= 2,604
NSotSHE ZIiddl X 10,000 10,000 0
= 5,000
< 1,500
s 3,500
402 QI2F X201 & 10,000 10,000 0
= 5,000
== 1,500
[Ea 3,500
02 QI EASEX(0IETHR) 10,000 10,000 0
oXS0tSHEH SZIHAH
10,000,000& 10,000
= 5,000
== 1,500
o 3,500
BACIEl 32 X 82,320 77,788 4,532
= 24,696
= 57,624
307 elztol & 82,320 77,788 4,532
= 24,696
Ea 57,624
02 2B YA R E £ 82,320 77,788 4,532
oZAtttel s8¢ K& 82,320,000 82,320
=S 24,696
s 57,624
XeotsHE 28 SHIXR(EX) 443,600 443,600 0
== 92,237
= 361,363
307 elztol & 443,600 443,600 0
= 92,237
= 361,363
1 AMEISXAEEXS 443,600 443,600 0
o NG 0ISHEH SAHL SE=
27,000,000 27,000
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A OSSN
M OlsEAd X
=2l Ol s=EXIXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 7,776
s 19,224
oXIH0tsdEH Al 350,000,000 350,000
= 70,000
Ea 280,000
oXlSotsdH 2HI(XHAH) X2
36,792,000 36,792
[ 5,519
Ea 31,273
oXg0tsdH S4=<0l X&H
29,808,000& 29,808
= 8,942
Ea 20,866
KSOtSHE SALR QIAH| 28 +H 57,600 0 57,600
== 17,280
[Ea 40,320
307 212+01& 57,600 0 57,600
< 17,280
s 40,320
11 MEISXAEE 57,600 0 57,600
oXG0tSHH 21| 2d+&
200,000 x24F 122 57,600
= 17,280
Ea 40,320
NA0tsHH Sexte kel N 144,802 144,802
307 @12t01 & 144,802 144,802
10 Al SXAZEE 22X 144,802 144,802
oXS0tsdH SStAE M E<0] X2
144,802,000 144,802
ots 2= N2 11,000 11,000 0
307 lztol & 11,000 11,000
02 LB HAHE X 5,000 5,000
S XSOtSHE SALL WSKIZ
5,000,000& 5,000
04 QIHHAMAIH 2 £ 6,000 6,000 0
oXg0tsdH Ot 2stHE
6,000,000 6,000
KA S XA 124d] XI& 2,420 2,900 A480
202 04| 2,420 2,900 A480
01 SLHoIH 2,420 2,900 2480
o XIHAL2IS XA 2HLHOIH
20,0002 8 * 122 1,920
S KNFARISXAL 22/ 1S F4 04|
50,0002 x1& 10 500
CEAEE(FHYAANE OtSSEAMLIA) RR(EX) 126,440 150,360 A23,920
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A OSSN
T OISHAE X
cel: Ol s=XIXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 101,152
=S 7,586
s 17,702
201 fer=3| 64,300 50,650 13,650
= 51,440
= 3,858
Ea 9,002
01 Al 22| 26,200 24,950 1,250
SCEAEE 292 AR 9,000, 0002 9,000
= 7,200
< 540
= 1,260
SCRIAEE AIREE 2|
5,000,000& 5,000
= 4,000
= 300
[Ea 700
cHESE| 500,000 x3EH *23] 3,000
= 2,400
= 180
2 420
SCEYARES 27 S|
8,000 x2&+90! 1,440
= 1,182
= 87
Ea 201
oOts=XII2E2AM 32+
50,0002 x5 #53] 1,250
= 1,000
= 75
Ea 175
oxHHlIE X WS A=
500,000 52 2,500
= 2,000
= 150
o 350
SURZ (4TI, SADI)
4,010,000& 12} 4,010
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